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Going back to DG treatment of essential type jumps ...
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Some comments on f(w):

1. If we use f(w) = w the dimensions of Ru-based and the
rest of weighted residual are not the same, so as an
element size -> 0 or increases some terms lose their
effect (go to zero relatively for example) ... so we
basically "don't enforce them":
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2. f(w)=aw)=- K VT

I'll use this option.

Comparison:

2. Is more favorable for some energy norm type errors
But if the element is interpolated with constant (Oth
order polynomial) function, this error is NOT enforced
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We'll choose option two, and not use p = 0 elements %W
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There are no problems with these monomial basis (other

than as p increases first we need to use better basis and
basis basis coordinate)
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